_<<:m~ are the Physical addresses for the
following logical addresses ?

(i) -0,430 |

(i) 1,10

(iii) 2500

(iv) 3400
v) 4412

m.‘ (a) <<:m~ do you mean by seek time ?

(b) Write shortnotes onany *oc._,o::m following : ‘

“() RISCandCISC

(i) RAID

(i) aw:mm_‘m_ :

(iv) Virtualmemory
V) LRU-algorithm

(vi) -Page fault

(vii) Buse-Register
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Candidates are required to give their answers in
their own words as far as practicable.

The figures in the margin indicate ful marks.
>:,m_\_\,mw #oi both the Groups as ,Q\.wmoamQW
Group —A
_AOEmQZm.va Questions)

~ Answer all questions.

1. - Choose E_m‘ oo?mvoﬁ answer from z._m following :
| o , .mx\_ 0=20
(a) Which is the fastest of the *o__oiim :

(i) Cache Memory .
(i) RAM

(ii)) CD-ROM

(iv) Registers
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(b) What isthe name of operating system,which () Which of the following a:,gm%_amﬁ_o: siw?

- was originally designed by the scientists and . _ (i) Word-processing

‘engineers foruse ? - , P .
O XENIX  (ii) Spreed-sheet
i
(i) UNIX . _ ‘ ) (iii) Unix ‘
i) osR2 e - (iv) Desktop publishing
(iv) _.sm DOS < _ | Scheduler selects sn.sm._.o_um from the
" Ed&amm . mammmow . Em‘.‘oum_,ma:@, pool of Jobs and loading to .%m ﬂ,m,m% queue ?
.m,<m6§€1:m user. 3 ,_.o:m term
(i) Kernal (i) Shortterm

(ii) Micro Kernal : , - (i) Mediumterm
(iii) Shell . . . (iv) Noneofthese
(iv) zosmo::mmm : e (h) Roundrobinisa:

(d) The operating system manages : (i) Kindofa Bm‘m:@:oaéa

(i) Memory , , (ii) Process scheduling vo_mo<. .

3 Processor =~ . ‘ . - (iii) _..vwaommm synchronisation policy

(i) Diskand /Odevices i () Memoryaliocation policy |

(iv) All of these _ | . -(i)  Dijkstra’s banker's algorithm is an operating
Am,v Find the odd manout: . v system solves the problem of :

) Evecitie (i) * Dead Lock mﬁoam.:om

(i) TaskManager | (i) Dead Lock recovery
(i) Kemnel . - : - (iii) Mutual Exclusion
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() m_._m_._:@ is vomm__u_m in which ﬁmd::_ncm
(i) . _umo_so
(ii) mmmamsﬁm:oa
(iii) Both (i) and (i)
(iv) None of Emmm
, O..o:v, =
Fo:m-m:mim_. ._.<co D:mm:ozmv

>3m<<mq any four ncmm:o:m of the following :
| Amxa 60

2 Amv <<:mﬁ is cache BOBOQ ? Explain the omo_.dm;

0 o read on,mqm:o:m.
(b) Explain DMA with neat diagram.
o ‘A_mv, What are the w-_Bmi ncﬁuomm,m ofa onm_,.mm:,m
system ? ¥
~ (b) Explainthe ol

(i) Spooling .
(ii) Time-sharing system
ac‘ Qmﬁccﬁma system

~ (iv) Read time system
4. (a) Whatdo you mean by shortterm scheduler ?

ME -5/1 LA Contd.

AS _u8<m Smﬁ among non- U_,mmBEEm
'scheduling algorithm, SPN provides the
, 35:3:3 m<m_,m@m waiting time.

5. (a) What is a dedlock ? What are :,.m

,A-:mommmmé oo:a&o: to amma_oox occur?

| A__uv mxn_m_: about ﬁ:m amm&oox gm<m3_o:
Bmﬁsoam , ;

6 (a) ,<<smﬁ is ma<m3m@mw m:g a_mma<m3m@mm Qn

umms@ -
(b) <<:< are pages size m_<<m<m voémq of m 7

7 mxv_m_: the dﬂo:os::@ m__oom:o: m_@o:ﬁr:,_m

(i) Firstfit
(i) Bestfit
~(iii) <<o_.m§ﬁ .
(b) Oosm_amq Em ,ﬂo__os\_:@ meBm_‘_ﬁ table ?
‘ m.mmam_: base ‘length
s 18 60D
fi 23000 14
2 go. . 100
g 1921 BE0.
4 1952 - 96
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